Day 5 — Compound Angle Formulas

The compound angle, or addition and subtraction formulas are:

sin(x + y) = sin xcos y + cos x sin y
sin{ x — y) = sin x cos y — cos xsin y
cos(x + y) = cos xcos ¥ —sin xsin y
cos(x — y) = cos xcos y + sin xsin y

_ _tanxrtany
tan(x +y) = 1—(tanx)(tany)

_ )y = _tanxteny
tan(x —y) = 1+(tanx)(tany)

EX 1 — Show that the subtraction formula for sine is true for x = g andy = %

sin( X "1;>

5}.’) ( - 3) — Sin o oS j — Cosae s ‘\ﬂj

S\l T = va Con T n ~ CosTL Sin T
("’“’ "”) | = Sn /T; - g
= (D) ) —(o) (=
( - gm’_‘f - E
- Nz ) T &
2.
EX 2 - Determine an exact value for: cos (342 + 7—;—)
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EX 3 - Determine the exact value for each of the following:

a) cs75 = C=5(45%307) b) sins® — Sy (453067
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EX 4 - Use an appropriate compound angle formula to determine the exact Value for:
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EX5- IfSlna-———S— 7z‘<a<——2—— and COSb——B g—SbS 7, evaluate tan(a+b) M
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1.

a) cos2A cosA - sin2A sinA

=
oy

EXTRA PRACTICE — COMPOUND ANGLE FORMULAS

Determine the value using compound addition identities, of each of the following
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Express as a single irigonometric function.

cos (2A+A)
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fan2x + tan3x

©) 1-tan2x tan3x

— Feen (’2,1+ 51)

H

e

3.

= 4-(4;/] (s r':z;)

-3

a) sin(x-vy)
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b) sing cos2 - sin2 coss
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d) cos?(x+y)+sin®(x+y)
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If x is in the interval {% . n} and y is in the interval [ 3;:1 and coSX =

b) cos(x +y)
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- —,and tany = 4 — ., evaluate the following:
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c) tan(x-vy)
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